Groeup Quiz 4 Name: Ké"{

Dusty Wilson
Math 111

No work = no credit
No Graphing Calculator
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5.) (3 pts) Suppose you solve the system {

Ax+By=C
Dx+Eyv=F

by setting up an augmented matrix and

solving using Gauss-Jordan elimination. Interpret the results if the resulting matrix is:
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6.) (6 pts) Solve the system {
x—=Ty=-8§

Gauss-Jordan Elimination.

s 1
.5
== &
i
D [o

i

[$au1 )
& “ % iﬁf“’%ﬁn [-m
-7 -8 {

g L} s [E
23 | -g) AR vhe L

i

; 2 [
«hes Sl Rl ey % “

wﬂ‘t =

Page 2 of 2

by constructing an augmented matrix and using

)

S \szﬂ‘,ﬁ:”?fz}_

-3 | -8
-~F | -8
& ‘? g\m“h&?“?{z"&
- waf“% j
28 E 1o | g, By



